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Each scction is compulsory. The marks distribution is samc as shown in the question
paper. The blind students will be given 60 minutes extra time.

University has all rights to change the distribution of marks.

3x4=12

All three questions are compulsory. Maximum word limit for answer 50 words.
o afreet wv afRenas RN gro ge fifag
Solve the following equations by Substitution Method :

x4+ 5y =36

x+y 5

x—-y 3

aqar OR
Fraw 7 AT RTATRA § 7
What do you understand by Invoice ?

’ﬁ’#WﬂﬁW‘)Sﬂ [ W@WWWZAQWWWMWWS/BQ | ey

::::x‘m of three numbsers is 98. The ratio of the first number to second number is 2 /3 and the ratio

of the second number 1o third number is 5/g. Find the second number.
staar OR

ar wr fam ;1122 iz w1 16 5%,

Evaluate : 16,2; % of 1122 meter.

. ey i vt 240 7 # wfrdy T 276 T A AR ) v ok wn e vy @
A person bought a watch for Rs. 240 and sold it for Rs. 276. Find his profit and profit percent,

yaqat QR

. ez ¥ e FR 9T 7% Y v @ 700 TR e frar | ol b aofdy wame )
An agent is entitled 10 8 commission of Rs. 700 @ 7% on tumover. Find the tumover.
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WIE X : AYIWAT W Section B : Short Answer Question . 4x7=28
T mmwaﬁwzamnmmmmm.

All four questions are compulsory. Maximum word limit for answer 200 words.

L 16 3 24 v gefte srargaeht arver | N
Find the third proportional of 16 and 24.
3rgar OR
stra & Qw 31 Fwrd qqTSw |
Explain Demerits OR Limitations of Average.
2. IE ¥ IR IART
Explain the kinds of Matrix,
3q41 OR

A + B @4T A - B ¥ 51 9Tq $iforw, af¥ : Find out value of A+ B and A - B, if :
-2 3 4 -3
A=[—4 6] B=[-6 5‘.
8 -9 4 -7

3. AR Y g o7 g9 fifSg : Solve by Nikhilam method :

105 x 98.
Fqar OR

1,425 T9% FT 4% A71q% |TATIr T HF A 3 I 3 /rg w7 oy aazw
Find the amount of Rs. 1,425 for 3 years 3 months at 4% simple interest per annum.

4, AT Y IT 5% T TETHL 6% % HT 9T It zerrer £ vl 1,680 w9¥ & @Y € 1 376 = F faa
sRafrwiigéeg ?

A broker’s income of Rs. 1,680 remains unchanged though his brokerage is increascd from 5% to

6Y%%. Find the percentage decline in his trade.
Fgar OR

fFarafy wge 3 W WYET Py ¥ @ lmw a7 Iud 120 T FfF T I AR FW YOG FT 2/7 WIT 6 A

faay | 91 W WY YET W17 ? _
A person sold a horse for Rs. 120 more than its cost and made a profit equal to 2/7 of its cost. Find

the cost of the horse. https://www.davvonline.com
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Frz: Wt 2 wr afard § | Jo Y Ffwaw o WET 500 9% |

All two questions are compulsory. Maximum word limit for answer 500 words.
1. (&) =gwors AToft §7 9407 3% J19 fAwfae ; Evaluate using log table :
3 [4.347 X v.06063

.82 (0.8721)2
(@), A? + 2B %1 717 A Fq iR : Find the value of A% + 2B if':
’ a=[% 4 B=[2 3]
13 5 4 5r
3ar OR

(e 2,000 77 wwyfZ v 97 & @t ww ad i 2,200 w97 g ava § 1 T T 9T R www F Ry
2,662 T3 ¥1 1AM )
Rs. 2,000 becomes Rs. 2,200 in one year at compound interest. In how many years the
amount shall be Rs. 2,662 on the same rate 7 -

(0 o o 40 s st e vy s 5 d o, o ) TRETCRT AT Tt @ % ST g g
'l':amrnn..rﬁ.mmnﬁmﬁﬁ:mﬁmﬂﬂ |
o :d:\fctr:gc rainfall for & week was 5§ cm. (excluding Sunday). Due to heavy rainfall on

y the uverage for the week rose to 7 cm. How much was the rainfall on Sunday ?
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wmﬁmﬁﬁq. e st AT ZX AT | gy ¥ 12 ¥ 7o ot § o stw M ER
& 2t % 4 FET ¥ 77 23 FITRF T E |
Find the fraction which is equal to 1/2 when both its numerator and denominator are
incrcased by 1 and which is equal to 2/3 when both are increased by 3.
@ O = 9y &1 & 1T« Solve by Dwandwa Yoga

(1) 458 (2) V5929.

(i) REREy sﬁmgﬁmﬁmWﬁmﬁﬁm: .
Solve by Vedik Mathematics of numbers ends with 5 :
(1335 2) 255.

sgar OR

gTrEre ¥ 97w 8:13 ¥ AT H T S0 &% F g w4 1 25 4% % g 81 3t 3oy ey o
gﬁa‘raﬁm%ﬁﬁﬁmmﬁml & 232
A shopkeeper has some 50 paise coins and some 235

paise coins in t i . |
coins are worth Rs. 232. Find the number of both type of coins. i the ratio of :13. IT. the
(3)  FGIVE AT KT TG FF A AT : Evaluate using log table :
400 x (1.04)3°

(1.04)3%° =1 °
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